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- L =
/*20094123 2 2= 20100324 */
/* */ g =MD
/* even_or_odd.c */ i L
[* * _ e

AL

FE4S YT Wop S4OUK BAQK BYSE T2 ¥ m <stdio.h>7} EH Q5
r ! o
/ kkkkkkkkkkkkhkhhkhkkkhkhhhhhhkkkhhhhhhhkkkhhhhhhhhhhhhhhhhhkdhhhhrhhhkkrrhhkkkihhihx / O | ﬂ

#include <stdio.h>

i mainvoid) m printf@} scanf A
{ m if-else®@} if-if

int number;

printf(" & 42 2/ 2{3}A|Q =>"); m/ H AI__| El

scanf("%d", &number);

if (number % 2) {
printf ("%d= 2=/ L|Ct.\n", number);

}
else {
printf ("%d= &=l L|Ct.\n", number);
}
}
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#include <stdio.h>

int main(void)
{

int number;

printf("H =5 YL HBIA| 2 =>");
if ( scanf("%d", &number) == 1) {

if (number % 2) {
printf ("%d= == L|Ct.\n", number);
}
else {
printf ("%d= =21 L|C}.\n", number);
}
return(0);
}
else {
printf("& X & & HLICh\n");
return (-1);
}
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for &

/***********************************************************************************/
/* */
/* 20094123 8245 20100324 */
/* */
/* loop.c */
/* */
/* for2g 08310 1E| 1007}X/9| 3 Pohe T2 V
/* */

/***********************************************************************************/

rir
[H

#include <stdio.h>

int main(void)
{
int i;
int sum = 0;

for(i=1;i < 101; i++) {
sum +=i; /¥ sum = sum + i */

}

printf("1E E 10077t X| 22 %dQ L|CH¥n", sum);
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/*****************************************************************************/
* *
/* 2Kt B A /
/*****************************************************************************/
#include <stdio.h>
#include <math.h>

int main(void)

{

double T a, b, ¢; [faxN2+bx+c=0%
double dist; /¥bA2-4ac*

double rootl, root2; /* real roots */

double real_part; /* real part*/

double  complex_part; /* complex part*/

printf("Wn2Xt B Ao 28 [5t= T2 O Wntn");
printf("Enter 3 real numbers : ");

if (scanf("%lIf %lIf %lIf", &a, &b, &c) == 3)
if(@a==0. & &b ==0.&& c =
printf("Wn&27d :

{
=0){
S 7 F=3| BEChwn");
}
elseif (@a==0. && b ==0) {

printf("Wn&E-sWn");

}
else if (@ ==0.) {
printf("Wn1X} 2 Alwn");
rootl = c / -b;
printf("Wn : %g®n", rootl);
}
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else {
printf("#n2 X B - AlWn");
dist=b*b-4*a*c
if (dist > 0) {
rootl = (-b + sqrt(dist))/(2. * a);
root2 = (-b - sqrt(dist))/(2. * a);
printf("Wn27H 2| A2 : %g, %gtn", rootl, root2);
}
else if (dist == 0) {
rootl = -b / (2. * a);
printf("Wn& = : %g¥n", rootl);
}
else {
real_part = -b / (2. * a);
complex_part = sqrt(-dist) / (2. * a);
printf("Wn271 2] &2 : %g + %gi, %g - %gifn",
real_part, complex_part, real_part, complex_part);
}
}
return O;
YRR U™ Y/
else {
printf("WnZ 2 =l Q]2 QI L|Ct#n")
return -1;
}

D DOHOFCH OHOERIRFEAIJOLY




2K

/*****************************************************************************/
* *
/* 2Kt B A /
/~k~k*********7\-***7\-*************************************************************/
#include <stdio.h>
#include <math.h>

int main(void)
{

double a, b, ¢ /Fax*2+bx+c=0%
printf("Wn2X} Bt Al0] 2 ASt= T Z T Wnin");
printf("Enter 3 real numbers : ");

if (scanf("%lIf %If %lIf", &a, &b, &c) == 3) {
if(@a==0. &&b==0 &8&c==0){
printf(("WnE2d : s 7t E49|
}

else if (@a==0. && b ==0) {
printf("WnE-sWn");

TECH#N");

}
else if (@ ==0.) {
double result;
printf("Wn1X} 2 Alwn");
result = ¢/ -b;
printf("Wn2 : %gWn", result);
}

g A Ver. 2 (1)
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else {

2Kt "I AL Ver, 2 (2)

if (dist > 0) {
double rootl, root2; /* real roots */
rootl = (-b + sqrt(dist))/(2. * a);
root2 = (-b - sqrt(dist))/(2. * a);
printf("Wn27H 2| A2 : %g, %gtn", rootl, root2);
}
else if (dist == 0) {
double root; /* real root */
root = -b / (2. * a);
printf("Wn& 2 : %g¥n", root);
}
else {
double real_part; /* real part*/
double complex_part; /* complex part*/
real_part = -b / (2. * a);
complex_part = sqrt(-dist) / (2. * a);
printf("Wn271 2] &2 : %g + %gi, %g - %gifn",
real_part, complex_part, real_part, complex_part);
}

double dist; /*bA2 -4ac* e

printf("#n2 X 8- AlWn");
dist=b*b-4*a*c
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2Kt &AL Ver. 2 (3)

}

return O;

b /e HAE o3 %

else {
printf("#nEr 2 &l @2 2lL|Chwn");
return -1,

}
}
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}

if @!=0.){

double D=b*b-4*a*c
if (D> 0){

}
else if (D ==0.) {

}
else{ /*D<0?%*

}

else if (b 1= 0.) {
}
else if (c!=0.) {
= }
else { /*c==0.%

}

Ver. 3
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add 2 noVer. 1

/***********************************************************************/

[*20094123 24 = */
I* */
/*add_2 nover.1 */
I* */
[* HE O] sh= 21 0] mainOf| A K 2| */
I* */

/***********************************************************************/

#include <stdio.h>

int main(void)

{
int num1, num2;
int start, end;
int sum = 0;
inti;

printf(" =740 S5 AHSIMR. =>");
if (scanf("%d %d", &num1, &num2) == 2) {
if (num1 > num2) {

for (i = start; i <=end; i++) {
sum +=i;

—

printf("%d0f| A %d7tX| ALO|Of Q= F+=2
g2 %d L Ct\n",
start, end, sum);

return O;

}

else {
printf("2 2 = 2= A L|CH\n");
return -1;

}

start = numz2;
end = numi;
}
else {
start = num1;
end = num2;
}
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add 2 noVer. 2

/****************************************************************************/

[*20094123 24 = */
I* */
/*add_2_no ver.2 */
I* *
/*add_2_no()2} H|AE 2% 9| main() */
I* */

/****************************************************************************/

#include <stdio.h>

intadd_2_no(int nol, int no2);

/****************************************************************************/
int main(void)
printf (22} 5 AtO| Q| =5 2| &2 %d QI L|Ct.\n",
add_2 no(2,5));

/****************************************************************************/
intadd_2_no(int nol, int no2)

{
int start, end;
int sum = 0;
inti;

if (nol > no2) {

start = no2;
end = nol;
}
else {
start = nol;
end = no2;

for (i = start; i <= end; i++) {
sum +=i;

return sum;
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add 2 noVer.3

/***********************************************************************************/

/20094123 22 = *
I* *
/*add_2_no ver.3 */
I* */
*add_2_no()t AFEXAZEE 2702 =5 Y YOt et+E B 2= main()*/
I* *

/***********************************************************************************/

#include <stdio.h>

intadd_2_no(intnol, int no2);
/***********************************************************************************/
int main(void)

intnuml1, num2;

int result;

printf"F7H 2| 5 YEGA|.=>");
if (scanf("%d %d", &num1, &num?2) == 2) {
result = add_2_no(numl, num2);
printf ("%d2} %d AFO| Q| £=E529| B2 %d ! L|Ct.\n",
numl, num2, result);
return O;
}
else {
printf("& R El =2 YL Ch\n");

return -1;

/****************************************************************************/

intadd_2_no(int nol, int no2)

{
int start, end;
int sum = 0;
inti;

if (nol > no2) {

start = no2;
end = no1l,;
}
else {
start = nol;
end = no2;
}
for (i = start; i <= end; i++) {
sum +=i;
}
return sum;
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add 2 no Ver. 4 (1)

/ kkkkkkkkkkkkkkhkkkkkkhkhkhkhkkkkkhkhkhkkkkkkkhkkkkkhhkkkhkhkkkkhkhkkkkkkkkkkkhkkkkkxk / /**************************************************************************** /
/*20094123 22 = * int main(void)

/* */ {

/*add_2_nover.4 */ int num1, num2;

* * int result;

[*add_2 no() : & 4= AFO|Q] M4E29| &t */

Fread_2 no(): & =2 A2X2EE A EO| =& */ if (read_2_no(&num1, &num2)){
[Fprint_res() : & =9} & £= AO|0f| Q= SHES EESl= 4 ¥/ result =add 2 no(numl, num2);
Fmain(): Z t+=E K2 = */ print_res(numl, numz2, result);

I* *
/**************************************************************************** / retu m 0 .

#include <stdio.h> }

intread_2 no (int *pl, int *p2); return -1;

intadd_2_no(int nol, int no2); }

void print_res(int nol, int no2, int no3);
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add 2 no Ver. 4 (2)

/****************************************************************************/

intread_2_no(int *p1, int *p2)

{
printf("F7H 2| H+=F RHSIAL. =>");
if (scanf("%d %d", p1, p2) == 2) {
return 1,
}
else {
printf("&H 2 =l 2} = I L|CH\n");
return O;
}
}

/****************************************************************************/
void print_res(int nol, int no2, int no3)

{
printf ("%d<2t %d ALO| 0| = £=E9| T2 %dQ L|Ct.\n",
nol, no2, no3);

/****************************************************************************/
intadd_2_no(int nol, int no2)

int start, end;

int sum = 0;

inti;

if (nol > no2) {
start = no2;
end = nol;

}

else {
start = nol;
end = no2;

for (i = start; i <= end; i++) {
sum +=i;

return sum;
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add 2 noVer.5 (1)

add 2 no.h main.c
|nt read 2 no (|nt *pl |nt *pz) /****************************************************************************/
intadd_2_no(int nol, int no2); /*20094123 2 2L = */
void print_res(int nol, int no2, int no3); 1* */
/*add_2 _nover.5 */
I* */
/*add_2_no() : & 4= Ato|o] 40| 3 i
I*read_2_no() : & & ALEXAZRE O S0|= g *l
[*print_res() : & =2t F = AHO|Of| =SS ESt=F ¥/
Fmain(): 2 st KHOE2 == */
I* */
/**************************************************************************** /
#include <stdio.h>
#include "add_2_no.h"
int main(void)
{
int num1, numz2;
int result;
if (read_2_no(&num1, &num2)){
result = add_2_no(num1, num2);
print_res(numl, numz2, result);
return O;
}
return -1;
}
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add 2 noVer.5 (2)

read 2 no.c

/****************************************************************/

[*20094123 24 = */
I* */
/*add_2_nover.5 */
1* */
*read_2 no(): & £ AIEX2EH A S0|= &t */
I* */

/*****************************************************************/

#include <stdio.h>

intread_2_no(int *p1, int *p2)

{
printf("F 74| H45 QEBIAIQ. =>);
if (scanf("%d %d", p1, p2) == 2) {

return 1;

}

else {
printf("& ZE &= QJLICH\n");
return O;

print_res.c

/*************************************************************************/

/*20094123 2 2L = x/
I* */
/*add_2 _nover.5 */
I* */
[*print_res() : & =2t F = AO|Of| = LSS ESt= 5
I* */

/*************************************************************************/

#include <stdio.h>

void print_res(int nol, int no2, int no3)
{
printf ("%d2} %d AFO| O] = =E2| 2 %dQL|CH\n",
nol, no2, no3);
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add 2 no Ver.5 (3)

add 2 no.c

/****************************************************************************/

20094123 S U= */
I* */
/*add_2_no ver.5 */
I* */
/*add_2_no() : & %= AFO|Q] A4S 0| Bt */
I* */

/****************************************************************************/

intadd_2 no(int nol, int no2)

{
int start, end;
int sum = 0;
inti;

if (nol > no2){

start = no2;
end = nol;
}
else {
start = nol;
end = no2;
}
for (i = start; i <= end; i++) {
sum +=i;
}
return sum;

}
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